



Available online at www.sciencedirect.com





Discrete Mathematics 306 (2006) 2118-2127

www.elsevier.com/locate/disc

Note

Arithmetic properties of q-Fibonacci numbers and q-pell numbers

Hao Pan

Department of Mathematics, Nanjing University, Nanjing 210093, People's Republic of China

Received 3 September 2005; received in revised form 26 November 2005; accepted 28 March 2006 Available online 1 August 2006

Abstract

We investigate some arithmetic properties of the q-Fibonacci numbers and the q-Pell numbers. © 2006 Elsevier B.V. All rights reserved.

Keywords: q-Fibonacci number; q-Pell number; Jacobi symbol

1. Introduction

The Fibonacci numbers F_n are given by

$$F_0 = 0$$
, $F_1 = 1$ and $F_n = F_{n-1} + F_{n-2}$ for $n \ge 2$.

For any odd prime p, it is well-known (cf. [11, pp. 44–50]) that

$$F_p \equiv \left(\frac{5}{p}\right) \pmod{p},\tag{1.1}$$

$$F_{p+1} \equiv \frac{1}{2} \left(1 + \left(\frac{5}{p} \right) \right) \pmod{p} \tag{1.2}$$

and

$$F_{p-1} \equiv \frac{1}{2} \left(1 - \left(\frac{5}{p} \right) \right) \pmod{p},\tag{1.3}$$

where $\left(\frac{\cdot}{p}\right)$ denotes the Legendre symbol. Indeed, we have

$$F_p = \frac{(1+\sqrt{5})^p - (1-\sqrt{5})^p}{2^p \sqrt{5}} \equiv \frac{(1+(\sqrt{5})^p) - (1-(\sqrt{5})^p)}{2\sqrt{5}} = 5^{(p-1)/2} \pmod{p}.$$

For more results on the congruences involving the Fibonacci numbers, the readers may refer to [14–16].

E-mail address: haopan79@yahoo.com.cn.

On the other hand, a sequence of polynomials $\mathcal{F}_n(q)$ was firstly introduced by Schur [13, pp. 117–136]

$$\mathcal{F}_{n}(q) = \begin{cases} 0 & \text{if } n = 0, \\ 1 & \text{if } n = 1, \\ \mathcal{F}_{n-1}(q) + q^{n-2} \mathcal{F}_{n-2}(q) & \text{if } n \geqslant 2. \end{cases}$$

Also Schur considered another sequence $\widehat{\mathcal{F}}_n(q)$, which is given by

$$\widehat{\mathcal{F}}_n(q) = \begin{cases} 0 & \text{if } n = 0, \\ 1 & \text{if } n = 1, \\ \widehat{\mathcal{F}}_{n-1}(q) + q^{n-1}\widehat{\mathcal{F}}_{n-2}(q) & \text{if } n \ge 2. \end{cases}$$

Obviously, both $\mathscr{F}_n(q)$ and $\widehat{\mathscr{F}}_n(q)$ are the q-analogues of the Fibonacci numbers. The sequences $\mathscr{F}_n(q)$ and $\widehat{\mathscr{F}}_n(q)$ have been investigated in several papers (e.g., [2,5–8]). However, seemingly there are no simple expressions for $\mathscr{F}_n(q)$ and $\widehat{\mathscr{F}}_n(q)$.

As usual we set

$$[n]_q = \frac{1-q^n}{1-q} = 1+q+\dots+q^{n-1}$$

for any non-negative integer n. In the proof of a theorem on the number of partitions [1, pp. 302–303], Andrews showed that for any odd prime p with $p \equiv \pm 2 \pmod{5}$

$$\mathcal{F}_{p+1}(q) \equiv 0 \pmod{[p]_q},$$

which is a partially q-analogue of (1.2). Here, Andrews' congruence is considered over the ring of the polynomials in q with integral coefficients, rather than the ring of quantum integers [10].

In this paper we shall give the q-analogues of (1.1)–(1.3) for $\mathscr{F}_n(q)$ and $\widehat{\mathscr{F}}_n(q)$. Suppose that n is an odd integer with $5 \nmid n$. Let α_n be the integer such that $1 \leqslant \alpha_n \leqslant 4$ and $\alpha_n n \equiv 1 \mod 5$. And let $\Phi_n(q)$ denote the nth cyclotomic polynomial in q, i.e.,

$$\Phi_n(q) = \prod_{\substack{1 \leqslant k \leqslant n \\ (k,n)=1}} (q - e^{2\pi i k/n}).$$

Clearly $\Phi_n(q)$ is a polynomial with integral coefficients, and $\Phi_p(q) = [p]_q$ when p is prime.

Theorem 1.1. Let $n \ge 3$ be an odd integer with $5 \nmid n$. Then

$$\mathscr{F}_{n+1}(q) \equiv \frac{1}{2} \left(1 + \left(\frac{5}{n} \right) \right) \pmod{\Phi_n(q)} \tag{1.4}$$

and

$$\mathscr{F}_n(q) \equiv \left(\frac{5}{n}\right) q^{((5-\alpha_n)n+1)/5} \pmod{\Phi_n(q)},\tag{1.5}$$

where $\left(\frac{\cdot}{n}\right)$ denotes the Jacobi symbol (cf. [9, pp. 56–58]).

Theorem 1.2. Let $n \ge 3$ be an odd integer with $5 \nmid n$. Then

$$\widehat{\mathscr{F}}_{n-1}(q) \equiv \frac{1}{2} \left(1 - \left(\frac{5}{n} \right) \right) \pmod{\Phi_n(q)} \tag{1.6}$$

and

$$\widehat{\mathscr{F}}_n(q) \equiv \left(\frac{5}{n}\right) q^{(\alpha_n n - 1)/5} \pmod{\Phi_n(q)}. \tag{1.7}$$

The Pell numbers P_n are given by

$$P_0 = 0$$
, $P_1 = 1$ and $P_n = 2P_{n-1} + P_{n-2}$ for $n \ge 2$.

It is easy to check that

$$P_n = \frac{(1+\sqrt{2})^n - (1-\sqrt{2})^n}{2\sqrt{2}}.$$

Hence for odd prime p, we have

$$P_p = \frac{(1+\sqrt{2})^p - (1-\sqrt{2})^p}{2\sqrt{2}} \equiv \frac{2(\sqrt{2})^p}{2\sqrt{2}} = 2^{(p-1)/2} \equiv \left(\frac{2}{p}\right) \pmod{p}. \tag{1.8}$$

In [12], Santos and Sills introduced two q-analogues of the Pell numbers. Define the sequences of polynomials $\mathcal{P}_n(q)$ and $\widehat{\mathcal{P}}_n(q)$ by

$$\mathcal{P}_n(q) = \begin{cases} 0 & \text{if } n = 0, \\ 1 & \text{if } n = 1, \\ (1 + q^{n-1})\mathcal{P}_{n-1}(q) + q^{n-2}\mathcal{P}_{n-2}(q) & \text{if } n \geqslant 2 \end{cases}$$

and

$$\widehat{\mathcal{P}}_{n}(q) = \begin{cases} 0 & \text{if } n = 0, \\ 1 & \text{if } n = 1, \\ (1 + q^{n-1})\widehat{\mathcal{P}}_{n-1}(q) + q^{n-1}\widehat{\mathcal{P}}_{n-2}(q) & \text{if } n \ge 2. \end{cases}$$

Clearly $\mathscr{P}_n(1) = \widehat{\mathscr{P}}_n(1) = P_n$. Now, we have the *q*-analogues of (1.8) for $\mathscr{P}_n(q)$ and $\widehat{\mathscr{P}}_n(q)$.

Theorem 1.3. Let $n \ge 3$ be an odd integer. Then

$$q^{(n^2-1)/8}\mathcal{P}_n(q) \equiv \left(\frac{2}{n}\right) \pmod{\Phi_n(q)} \tag{1.9}$$

and

$$\widehat{\mathscr{P}}_n(q) \equiv \left(\frac{2}{n}\right) q^{(n^2 - 1)/8} \pmod{\Phi_n(q)}. \tag{1.10}$$

Furthermore, we have

$$\mathscr{P}_{n+1}(q) - \mathscr{P}_n(q) \equiv \widehat{\mathscr{P}}_{n+1}(q) - \widehat{\mathscr{P}}_n(q) \equiv 1 \pmod{\Phi_n(q)}. \tag{1.11}$$

Since $\left(\frac{2}{n}\right) = (-1)^{(n^2-1)/8}$, (1.9) and (1.10) can be, respectively, rewritten as

$$(-q)^{(n^2-1)/8}\mathcal{P}_n(q) \equiv 1 \pmod{\Phi_n(q)}$$

and

$$\widehat{\mathscr{P}}_n(q) \equiv (-q)^{(n^2-1)/8} \pmod{\Phi_n(q)}.$$

The proofs of Theorems 1.1–1.3 will be given in Sections 2 and 3.

2. Proofs of Theorems 1.1 and 1.2

For any $n, m \in \mathbb{Z}$, the *q*-binomial coefficient $\begin{bmatrix} n \\ m \end{bmatrix}_q$ is given by

$$\begin{bmatrix} n \\ m \end{bmatrix}_{q} = \frac{(1-q^{n})(1-q^{n-1})\cdots(1-q^{n-m+1})}{(1-q^{m})(1-q^{m-1})\cdots(1-q)}$$

when $m \ge 0$, and let $\begin{bmatrix} n \\ m \end{bmatrix}_q = 0$ if m < 0. Obviously $\begin{bmatrix} n \\ m \end{bmatrix}_q$ is a polynomial in q with integral coefficients since q-binomial coefficients satisfy the recurrence relation

$$\begin{bmatrix} n+1 \\ m \end{bmatrix}_q = q^m \begin{bmatrix} n \\ m \end{bmatrix}_q + \begin{bmatrix} n \\ m-1 \end{bmatrix}_q = \begin{bmatrix} n \\ m \end{bmatrix}_q + q^{n-m+1} \begin{bmatrix} n \\ m-1 \end{bmatrix}_q.$$

Let $\lfloor x \rfloor$ denotes the greatest integer not exceeding x. Then for any non-negative integer n, we have

$$\mathcal{F}_{n+1}(q) = \sum_{0 \leqslant 2j \leqslant n} q^{j^2} \begin{bmatrix} n-j \\ j \end{bmatrix}_q$$

$$= \sum_{j=-\infty}^{\infty} (-1)^j q^{j(5j+1)/2} \begin{bmatrix} n \\ \lfloor (n-5j)/2 \rfloor \end{bmatrix}_q$$
(2.1)

and

$$\widehat{\mathscr{F}}_{n+1}(q) = \sum_{0 \leqslant 2j \leqslant n} q^{j^2 + j} {n - j \brack j}_q$$

$$= \sum_{i = -\infty}^{\infty} (-1)^j q^{j(5j - 3)/2} {n + 1 \brack \lfloor (n + 1 - 5j)/2 \rfloor + 1}_q.$$
(2.2)

Eqs. (2.1) and (2.2) can be considered as the finite forms of the first and the second of the Rogers–Ramanujan identities, respectively (the full proofs of (2.1) and (2.2) can be found in [1]).

Lemma 2.1. Suppose that n is an arbitrary integer. Let

$$L(j) = \frac{j(5j+1)}{2} - \binom{\lfloor (n-1-5j)/2 \rfloor + 1}{2},$$

and let

$$\widehat{L}(j) = \frac{j(5j-3)}{2} - \binom{\lfloor (n-1-5j)/2 \rfloor + 2}{2}.$$

Then if n is odd, we have

$$L(2j) - L(2j-1) = \widehat{L}(2j) - \widehat{L}(2j-1) = n.$$

And when n is even,

$$L(2j+1) - L(2j) = \widehat{L}(2j+1) - \widehat{L}(2j) = n.$$

Lemma 2.2. Suppose that n is an integer prime to 5. Let

$$S_n = \{ j \in \mathbb{Z} : 0 \leq \lfloor (n-1-5j)/2 \rfloor \leq n-1 \}$$

and

$$\widehat{S}_n = \{ j \in \mathbb{Z} : 0 \leq \lfloor (n-1-5j)/2 \rfloor + 1 \leq n-1 \}.$$

We have

$$S_n = \{ j \in \mathbb{Z} : -|n/5| \leqslant j \leqslant |n/5| \}$$

and

$$\widehat{S}_n = \begin{cases} \{j \in \mathbb{Z} : -\lfloor n/5 \rfloor + 1 \leqslant j \leqslant \lfloor n/5 \rfloor \} & \text{if } n \equiv 1 \bmod 5, \\ \{j \in \mathbb{Z} : -\lfloor n/5 \rfloor \leqslant j \leqslant \lfloor n/5 \rfloor \} & \text{if } n \equiv 2, 3 \bmod 5, \\ \{j \in \mathbb{Z} : -\lfloor n/5 \rfloor \leqslant j \leqslant \lfloor n/5 \rfloor + 1 \} & \text{if } n \equiv 4 \bmod 5. \end{cases}$$

These two lemmas above can be verified directly, so we omit the details here.

Proof of Theorem 1.1. By the quadratic reciprocity law, we know that

$$\left(\frac{5}{n}\right) = \left(\frac{n}{5}\right) = \begin{cases} 1 & \text{if } n \equiv 1, 4 \mod 5, \\ -1 & \text{if } n \equiv 2, 3 \mod 5. \end{cases}$$

Since $\Phi_n(q)$ divides $[n]_q$ and $(\Phi_n(q), [j]_q) = 1$ for each $1 \le j \le n-1$, we have

$$\begin{bmatrix} n \\ m \end{bmatrix}_q = \frac{[n]_q [n-1]_q \dots [n-m+1]_q}{[m]_q [m-1]_q \dots [1]_q} \equiv \begin{cases} 1 \pmod{\Phi_n(q)} & \text{if } m = 0 \text{ or } n, \\ 0 \pmod{\Phi_n(q)} & \text{if } 1 \leqslant m \leqslant n-1. \end{cases}$$

Then from (2.1), it follows that

$$\mathcal{F}_{n+1}(q) = \sum_{j=-\infty}^{\infty} (-1)^j q^{j(5j+1)/2} \begin{bmatrix} n \\ \lfloor (n-5j)/2 \rfloor \end{bmatrix}_q$$

$$\equiv \sum_{\lfloor (n-5j)/2 \rfloor = 0 \text{ or } n} (-1)^j q^{j(5j+1)/2} \pmod{\Phi_n(q)}.$$

It is easy to check that

$$\{j: \lfloor (n-5j)/2 \rfloor = 0 \text{ or } n\} = \begin{cases} \{(n-1)/5\} & \text{if } n \equiv 1 \mod 5, \\ \{-(n+1)/5\} & \text{if } n \equiv 4 \mod 5, \\ \emptyset & \text{if } n \equiv 2, 3 \mod 5 \end{cases}$$

Thus

$$\begin{split} \mathscr{F}_{n+1}(q) &\equiv \sum_{\lfloor (n-5j)/2 \rfloor \equiv 0 \text{ or } n} (-1)^j q^{j(5j+1)/2} \\ &= \begin{cases} (-1)^{(n-1)/5} q^{n(n-1)/5} \equiv 1 \pmod{\Phi_n(q)} & \text{if } n \equiv 1 \bmod 5, \\ (-1)^{-(n+1)/5} q^{n(n+1)/5} \equiv 1 \pmod{\Phi_n(q)} & \text{if } n \equiv 4 \bmod 5, \\ 0 \pmod{\Phi_n(q)} & \text{if } n \equiv 2, 3 \bmod 5. \end{cases} \end{split}$$

This concludes the proof of (1.4).

Also, applying (2.1) and Lemma 2.2, we deduce that

$$\begin{split} \mathscr{F}_{n}(q) &= \sum_{0 \leqslant \lfloor (n-1-5j)/2 \rfloor \leqslant n-1} (-1)^{j} q^{j(5j+1)/2} \begin{bmatrix} n-1 \\ \lfloor (n-1-5j)/2 \rfloor \end{bmatrix}_{q} \\ &= \sum_{j=-\lfloor n/5 \rfloor}^{\lfloor n/5 \rfloor} (-1)^{j} q^{j(5j+1)/2} \prod_{k=1}^{\lfloor (n-1-5j)/2 \rfloor} \frac{\lfloor n-k \rfloor_{q}}{\lfloor k \rfloor_{q}} \\ &= \sum_{j=-\lfloor n/5 \rfloor}^{\lfloor n/5 \rfloor} (-1)^{j} q^{j(5j+1)/2} \prod_{k=1}^{\lfloor (n-1-5j)/2 \rfloor} \frac{\lfloor n \rfloor_{q} - \lfloor k \rfloor_{q}}{q^{k} \lfloor k \rfloor_{q}} \\ &\equiv \sum_{j=-\lfloor n/5 \rfloor}^{\lfloor n/5 \rfloor} (-1)^{j+\lfloor (n-1-5j)/2 \rfloor} q^{L(j)} \pmod{\Phi_{n}(q)}. \end{split}$$

Assume that $n \equiv 1 \mod 5$. Noting that (n-1)/5 is even and

$$(2j-1) + \lfloor (n-1-5(2j-1))/2 \rfloor = 2j + \lfloor (n-1-5\cdot 2j)/2 \rfloor + 1 = (n-1)/2 - 3j + 1,$$

we have

$$\begin{split} \mathscr{F}_n(q) &\equiv (-1)^{4(n-1)/5} q^{L(-(n-1)/5)} + \sum_{j=-(n-6)/5}^{(n-1)/5} (-1)^{j+\lfloor (n-1-5j)/2 \rfloor} q^{L(j)} \\ &= q^{(n-1)(n-2)/10-n(n-1)/2} + \sum_{j=-(n-11)/10}^{(n-1)/10} (-1)^{(n-1)/2-3j} (q^{L(2j)} - q^{L(2j-1)}) \\ &\equiv q^{(4n+1)/5} \; (\text{mod } \Phi_n(q)), \end{split}$$

where Lemma 2.1 is applied in the last step. Similarly, we obtain that

$$\mathcal{F}_n(q) \equiv \begin{cases} (-1)^{(n-2)/5} q^{L((n-2)/5)} \equiv -q^{(2n+1)/5} \pmod{\Phi_n(q)} & \text{if } n \equiv 2 \bmod 5, \\ (-1)^{1+4(n-3)/5} q^{L(-(n-3)/5)} \equiv -q^{(3n+1)/5} \pmod{\Phi_n(q)} & \text{if } n \equiv 3 \bmod 5, \\ (-1)^{1+(n-4)/5} q^{L((n-4)/5)} \equiv q^{(n+1)/5} \pmod{\Phi_n(q)} & \text{if } n \equiv 4 \bmod 5. \end{cases}$$

Proof of Theorem 1.2. In view of (2.2),

$$\widehat{\mathscr{F}}_n(q) = \sum_{j=-\infty}^{\infty} (-1)^j q^{j(5j-3)/2} \begin{bmatrix} n \\ \lfloor (n-5j)/2 \rfloor + 1 \end{bmatrix}_q.$$

And we have

$$\{j: \lfloor (n-5j)/2 \rfloor + 1 = 0 \text{ or } n\} = \begin{cases} \{-(n-1)/5\} & \text{if } n \equiv 1 \bmod 5, \\ \{-(n-2)/5\} & \text{if } n \equiv 2 \bmod 5, \\ \{(n+2)/5\} & \text{if } n \equiv 3 \bmod 5, \\ \{(n+1)/5\} & \text{if } n \equiv 4 \bmod 5. \end{cases}$$

Therefore

$$\widehat{\mathcal{F}}_n(q) \equiv \begin{cases} (-1)^{-(n-1)/5} q^{(n+2)(n-1)/10} \equiv q^{(n-1)/5} \pmod{\Phi_n(q)} & \text{if } n \equiv 1 \bmod 5, \\ (-1)^{-(n-2)/5} q^{(n+1)(n-2)/10} \equiv -q^{(3n-1)/5} \pmod{\Phi_n(q)} & \text{if } n \equiv 2 \bmod 5, \\ (-1)^{(n+2)/5} q^{(n+2)(n-1)/10} \equiv -q^{(2n-1)/5} \pmod{\Phi_n(q)} & \text{if } n \equiv 3 \bmod 5, \\ (-1)^{(n+1)/5} q^{(n+1)(n-2)/10} \equiv q^{(4n-1)/5} \pmod{\Phi_n(q)} & \text{if } n \equiv 4 \bmod 5. \end{cases}$$

Now, let us turn to the proof of (1.7). From (2.2), it follows that

$$\widehat{\mathscr{F}}_{n-1}(q) = \sum_{j=-\infty}^{\infty} (-1)^{j} q^{j(5j-3)/2} \begin{bmatrix} n-1 \\ \lfloor (n-1-5j)/2 \rfloor + 1 \end{bmatrix}_{q}$$

$$= \sum_{0 \leq \lfloor (n-1-5j)/2 \rfloor + 1 \leq n-1}^{\infty} (-1)^{j} q^{j(5j-3)/2} \begin{bmatrix} n-1 \\ \lfloor (n-1-5j)/2 \rfloor + 1 \end{bmatrix}_{q}.$$

If $n \equiv 1 \mod 5$, then by Lemmas 2.1 and 2.2, we have

$$\widehat{\mathscr{F}}_{n-1}(q) = \sum_{j=-(n-1)/5+1}^{(n-1)/5} (-1)^j q^{j(5j-3)/2} \begin{bmatrix} n-1 \\ \lfloor (n-1-5j)/2 \rfloor + 1 \end{bmatrix}_q$$

$$\equiv \sum_{j=-(n-6)/5}^{(n-1)/5} (-1)^{j+\lfloor (n-1-5j)/2 \rfloor + 1} q^{\widehat{L}(j)}$$

$$= \sum_{j=-(n-1)/10}^{(n-1)/10} (-1)^{(n-1)/2-3j+1} (q^{\widehat{L}(2j)} - q^{\widehat{L}(2j-1)})$$

$$\equiv 0 \pmod{\Phi_n(q)}.$$

Similarly when $n \equiv 4 \mod 5$,

$$\widehat{\mathscr{F}}_{n-1}(q) \equiv \sum_{j=-(n-4)/5}^{(n+1)/5} (-1)^{j+\lfloor (n-1-5j)/2\rfloor+1} q^{\widehat{L}(j)} \equiv 0 \pmod{\Phi_n(q)}.$$

Finally, suppose that $n \equiv 2$ or $3 \mod 5$. Then

$$\begin{split} \widehat{\mathscr{F}}_{n-1}(q) \\ &\equiv \sum_{j=-\lfloor n/5 \rfloor}^{\lfloor n/5 \rfloor} (-1)^{j+\lfloor (n-1-5j)/2 \rfloor+1} q^{\widehat{L}(j)} \\ &\equiv \begin{cases} (-1)^{(n-2)/5+1} q^{\widehat{L}((n-2)/5)} = q^{n(n-7)/10} \equiv 1 \pmod{\Phi_n(q)} & \text{if } n \equiv 2 \bmod 5, \\ (-1)^{-(n-3)/5+(n-1)} q^{\widehat{L}(-(n-3)/5)} = q^{n(1-2n)/5} \equiv 1 \pmod{\Phi_n(q)} & \text{if } n \equiv 3 \bmod 5. \end{cases} \end{split}$$

All are done. \square

Remark. With the similar discussion, it can be showed that for any positive even integer n with $5 \nmid n$,

$$\mathscr{F}_n(q) \equiv \left(\frac{n}{5}\right) q^{((5-\alpha_n)n+1)/5} \pmod{\Phi_n(q)}, \ \ \widehat{\mathscr{F}}_n(q) \equiv \left(\frac{n}{5}\right) q^{(\alpha_n n-1)/5} \pmod{\Phi_n(q)}$$

and

$$\mathscr{F}_{n+1}(q) \equiv \frac{1}{2} \left(1 + \left(\frac{n}{5} \right) \right) \pmod{\Phi_n(q)}, \ \widehat{\mathscr{F}}_{n-1}(q) \equiv \frac{1}{2} \left(1 - \left(\frac{n}{5} \right) \right) \pmod{\Phi_n(q)}.$$

Also, when $5 \mid n$, we have

$$\mathscr{F}_n(q) \equiv \widehat{\mathscr{F}}_n(q) \equiv 0 \pmod{\Phi_n(q)}.$$

3. q-Pell number

To prove Theorem 1.3, we need similar identities as (2.1) and (2.2) for $\mathscr{P}_n(q)$ and $\widehat{\mathscr{P}}_n(q)$, respectively. Fortunately, such identities have been established. Let

$$T_1(n, m, q) = \sum_{j=0}^{n} (-q)^j {n \brack j}_{q^2} {2n - 2j \brack n - m - j}_q.$$

Lemma 3.1. Let n be a non-negative integer. Then

$$\mathcal{P}_{n+1}(q) = \sum_{j=0}^{n} \sum_{k=0}^{j} q^{(j^2+j+k^2-k)/2} \begin{bmatrix} j \\ k \end{bmatrix}_q \begin{bmatrix} n-k \\ j \end{bmatrix}_q$$

$$= \sum_{j=-\infty}^{\infty} (-1)^j q^{2j^2} T_1(n+1, 4j+1, \sqrt{q})$$
(3.1)

and

$$\widehat{\mathscr{P}}_{n+1}(q) = \sum_{j=0}^{n} \sum_{k=0}^{j} q^{(j^2+j+k^2+k)/2} \begin{bmatrix} j \\ k \end{bmatrix}_q \begin{bmatrix} n-k \\ j \end{bmatrix}_q$$

$$= \sum_{j=-\infty}^{\infty} (-1)^j q^{2j^2+j} T_1(n+1, 4j+1, \sqrt{q}). \tag{3.2}$$

Eqs. (3.1) and (3.2) are the special cases of an identity due to Berkovich et al. [4, (2.34)]. And another proof of Lemma 3.1 is given in [12].

Proof of Theorem 1.3. Combining identities (2.33) and (2.34) in [3], it is not difficult to deduce that we have another representation of $T_1(n, m, q)$:

$$T_1(n, m, \sqrt{q}) = \sum_{-\infty \leqslant k \leqslant \infty} q^{\binom{k}{2}} \begin{bmatrix} n \\ k \end{bmatrix}_q \begin{bmatrix} n-k \\ (n-m-k)/2 \end{bmatrix}_q.$$

$$k \equiv n-m \mod 2$$
(3.3)

Now by (3.1) and (3.3), we have

$$\mathcal{P}_{n}(q) = \sum_{j=-\infty}^{\infty} (-1)^{j} q^{2j^{2}} T_{1}(n, 4j + 1, \sqrt{q})$$

$$= \sum_{j=-\infty}^{\infty} (-1)^{j} q^{2j^{2}} \sum_{\substack{-\infty \leqslant k \leqslant -\infty \\ k \equiv n-1 \bmod 2}} q^{\binom{k}{2}} \begin{bmatrix} n \\ k \end{bmatrix}_{q} \begin{bmatrix} n-k \\ (n-4j-k-1)/2 \end{bmatrix}_{q}$$

$$\equiv \sum_{j=-\infty}^{\infty} (-1)^{j} q^{2j^{2}} \begin{bmatrix} n \\ (n-1)/2 - 2j \end{bmatrix}_{q}$$

$$\equiv \begin{cases} (-1)^{(n-1)/4} q^{(n-1)^{2}/8} & \text{if } n \equiv 1 \bmod 4, \\ (-1)^{-(n+1)/4} q^{(n+1)^{2}/8} & \text{if } n \equiv 3 \bmod 4 \end{cases}$$

$$\equiv \binom{2}{n} q^{-(n^{2}-1)/8} \pmod{\Phi_{n}(q)}.$$

The proof of (1.10) is very similar. From (3.2), it follows that

$$\widehat{\mathscr{P}}_{n}(q) = \sum_{j=-\infty}^{\infty} (-1)^{j} q^{2j^{2}+j} \sum_{-\infty \leqslant k \leqslant \infty} q^{\binom{k}{2}} \begin{bmatrix} n \\ k \end{bmatrix}_{q} \begin{bmatrix} n-k \\ (n-4j-k-1)/2 \end{bmatrix}_{q}$$

$$k \equiv n-1 \mod 2$$

$$\equiv \sum_{j=-\infty}^{\infty} (-1)^{j} q^{2j^{2}+j} \begin{bmatrix} n \\ (n-1)/2-2j \end{bmatrix}_{q}$$

$$\equiv \begin{cases} (-1)^{(n-1)/4} q^{(n-1)^{2}/8+(n-1)/4} & \text{if } n \equiv 1 \mod 4, \\ (-1)^{-(n+1)/4} q^{(n+1)^{2}/8-(n+1)/4} & \text{if } n \equiv 3 \mod 4 \end{cases}$$

$$= \left(\frac{2}{n}\right) q^{(n^{2}-1)/8} \pmod{\Phi_{n}(q)}.$$

Thus, the proofs of (1.9) and (1.10) are completed.

By (3.3), for any integer m we have

$$\begin{split} T_{1}(n+1,4m+1,\sqrt{q}) &- T_{1}(n,4m+1,\sqrt{q}) \\ &\equiv T_{1}(n+1,4m+1,\sqrt{q}) - q^{n}T_{1}(n,4m+1,\sqrt{q}) \\ &= \sum_{-\infty \leqslant k \leqslant \infty} q^{\left(\frac{k}{2}\right)} {n+1 \brack k}_{q} {n+1-k \brack (n-4m-k)/2}_{q} \\ &= \sum_{-\infty \leqslant k \leqslant \infty} q^{n+\left(\frac{k}{2}\right)} {n \brack k}_{q} {n-k \brack (n-4m-k-1)/2}_{q} \\ &= \sum_{-\infty \leqslant k \leqslant \infty} q^{\left(\frac{k+1}{2}\right)} \left({n+1 \brack k+1}_{q} - q^{n-k} {n \brack k}_{q} \right) {n-k \brack (n-4m-k-1)/2}_{q} \\ &= \sum_{-\infty \leqslant k \leqslant \infty} q^{\left(\frac{k+1}{2}\right)} {n+1 \brack k+1}_{q} {n-k \brack (n-k-1)/2 - 2m}_{q} \\ &= \sum_{-\infty \leqslant k \leqslant \infty} q^{\left(\frac{k+1}{2}\right)} {n \brack k+1}_{q} {n-k \brack (n-k-1)/2 - 2m}_{q} \\ &= q^{n\choose 2} {1 \brack -2m}_{q} \equiv \delta_{m} \pmod{\Phi_{n}(q)}, \end{split}$$

where $\delta_m = 1$ if m = 0, and 0 otherwise. Thus

$$\mathcal{P}_{n+1}(q) - \mathcal{P}_{n}(q) = \sum_{j=-\infty}^{\infty} (-1)^{j} q^{2j^{2}} (T_{1}(n+1, 4j+1, \sqrt{q}) - T_{1}(n, 4j+1, \sqrt{q}))$$

$$\equiv \sum_{j=-\infty}^{\infty} (-1)^{j} q^{2j^{2}} \delta_{j}$$

$$\equiv 1 \pmod{\Phi_{n}(q)}.$$

Similarly, we have

$$\widehat{\mathcal{P}}_{n+1}(q) - \widehat{\mathcal{P}}_{n}(q) = \sum_{j=-\infty}^{\infty} (-1)^{j} q^{2j^{2}+j} (T_{1}(n+1, 4j+1, \sqrt{q}) - T_{1}(n, 4j+1, \sqrt{q}))$$

$$\equiv \sum_{j=-\infty}^{\infty} (-1)^{j} q^{2j^{2}+j} \delta_{j}$$

$$\equiv 1 \pmod{\Phi_{n}(q)}. \quad \Box$$

Remark. When $n \ge 2$ is even, using the same method, we can prove that

$$\mathscr{P}_n(q) \equiv \widehat{\mathscr{P}}_n(q) \equiv 0 \pmod{\Phi_n(q)}$$

and

$$\mathscr{P}_{n+1}(q) - \mathscr{P}_n(q) \equiv \widehat{\mathscr{P}}_n(q) - \widehat{\mathscr{P}}_{n+1}(q) \equiv (-1)^{n/2} \; (\text{mod } \Phi_n(q)).$$

Acknowledgments

I am grateful to two anonymous referees for their useful comments and valuable suggestions. Especially, one referee informed me about identity (3.3), which simplifies the proof of Theorem 1.3. I also thank my advisor, Zhi-Wei Sun, for his help in this paper.

References

- [1] G.E. Andrews, A polynomial identity which implies the Rogers-Ramanujan identities, Scripta Math. 28 (1970) 297–305.
- [2] G.E. Andrews, Fibonacci numbers and the Rogers-Ramanujan identities, Fibonacci Quart. 42 (2004) 3-19.
- [3] G.E. Andrews, R.J. Baxter, Lattice gas generalization of the hard hexagon model. III. *q*-trinomial coefficients, J. Statist. Phys. 47 (1987) 297–330.
- [4] A. Berkovich, B.M. McCoy, W.P. Orrick, Polynomial identities, indices, and duality for the *N* = 1 superconformal model *SM*(2, 4*v*), J. Statist. Phys. 83 (1996) 795–837.
- [5] A. Berkovich, P. Paule, Variants of the Andrews-Gordon identities, Ramanujan J. 5 (2001) 391-404.
- [6] L. Carlitz, Fibonacci notes. III: q-Fibonacci numbers, Fibonacci Quart. 12 (1974) 317–322.
- [7] J. Cigler, q-Fibonacci polynomials, Fibonacci Quart. 41 (2003) 31–40.
- [8] K. Garrett, M. Ismail, D. Stanton, Variants of the Rogers-Ramanujan identities, Adv. Appl. Math. 23 (1999) 274-299.
- [9] K. Ireland, M. Rosen, A Classical Introduction to Modern Number Theory, second ed., Springer, New York, 1990.
- [10] M.B. Nathanson, Additive number theory and the ring of quantum integers, preprint, arXiv:math.NT/0204006.
- [11] P. Ribenboim, The Book of Prime Number Records, second ed., Springer, New York, 1989.
- [12] J. Santos, A.V. Sills, q-Pell sequences and two identities of V.A. Lebesgue, Discrete Math. 257 (2002) 125–142.
- [13] I. Schur, Gesmmelte Abhandungen, vol. 2, Springer, Berlin, 1973.
- [14] Z.H. Sun, Values of Lucas sequences modulo primes, Rocky Mountain J. Math. 33 (2003) 1123-1145.
- [15] Z.H. Sun, Z.W. Sun, Fibonacci numbers and Fermat's last theorem, Acta Arith. 60 (1992) 371–388.
- [16] H.C. Williams, A note on the Fibonacci quotient $F_{p-\varepsilon}/p$, Canad. Math. Bull. 25 (1982) 366–370.